g mv
@ ® = | @ £
gl 8| 38| § o
5l S g
I H < | .
] § 2|3
= (@) %
i B & 3| &
m 2 2 o ° ~—
. g x| 2™
2 5 o m 1
g2 2 N
8 2 = 3 =
glpd |52 2|88 o c
sl S |8 o | B0 <] 5
&8 |82 B |3k © =
£iS s
172}
= S 28 w0
< cw b4 <
INPNE o S e W
I | ¥l o S = .
o) S2g | S| 3| 2=3
O IR X = =) ©
C |4 < u¥l 2| 8 &=
© > 2l 08| g| =m-8
5 2 |5 | sile 8| B3
S m z S| E v*2lg S|lia N
+ =1 =35 |2 o
v ¢ o X 2.8 2B % o
i v ¥ N
< = = B g a 3
A = om \O O R” o H 2 >
Z < 4+ < . o
E \ \ m. mmmE 3 2 mE 3 © ROu
— T_mxm S To¥E| mmlg |2
=/ug s <] aZ83 o ~—
=3 -fO W n. ] m e M ﬂ. © .
|8 ws&Z |8 2542 e
HEREE T " E
2|3 2
90'0E 16'€0E <
1000162 O
o
i)
+
QU]
YEv0E 617 0E 00'00G2 D
NEON
21
. > & .
29'%0€ a5 8%'0€ 000653
I
06'70E 8/'v0€ 000853
81'G0E £0'S0E 90'0/ 52
ZVEDE[  [leEtel | Ggigha
g
<> ol o
o M) =
M o o
m z| = //'SOE 09'S0E 00053
N
3
H
o
£0'90E 88'S0E 0003
e B9 _
9£'90e B & 81'90¢ 00052
__F I
99'90E 05'90€ 90'022
o
. . ©
96'90E £8'90€ 000152 &
o
4
+
QU
92'/0E 21'/0E 0000%2 D
T€/0€ DE'86€4
STG6E+e 'dd v¥'/0€ 01'S6€3
£9'/0€ /¥'L0E 000663
oy 59
05) 2o
C . e .
G\ 20'80E v 28'L0E 00862
0%'80E 12'80€ 0062
6S'80E M VURSZY
Lorcos+a Dl W 65'80€ 0TG9ES
8/'80E 19'80€ 000963
yT'60E 00'60€ b00cea
—s /¥'60E 1£'60E boovea
® S
™
™ .
+ O . .
QY] m = //'60E . £9'60E b00se 2
S <3 S
X US S S
o N 88'60€ 9 p8'G2ed
Sale &
_m_ = ¥0'01E 06'60€ 0’0262
v S
L
K
VMm N O
[a% . . ©
82'01¢ 21'01E 0012 o
(@)
™
+
QU
6v01E vE0IE 00'00€2 D
8901¢ 0S'01E 000622
Y ££°0TE 1d VUPSZY
6v'982+2 iAd W €01 £1'9824
¥8'01€ £9'01E 000822
00'71€ £8'01€ 000,23
ﬂ“Q/
oM
1_.4
I I
g 9TT1E 00'11E 900923
=
59 7 5
QO .IO N
MM z s : \ 2e11e /TTIE -
& 2
6ETIE I oupazy
Lercra+re D W 6ETIE 61Sred
8¥'11€ ceTIE 0'0p22
S9TIE 2511E h0'0e22
e 2
™~ = <
& A
NI £8'11€ 69'11E [ P
v=8 o
g<o 2 p
Uo S S O
= N8o SETIE = ACIEE =
o ' — ' -
€54 T8I 000128 O
i=o S
g +
=
e J
=y
A4
(04 2221E 8021 000022 D
£4'21€ 62'21€ 000612
Y ¥921E 1d OPUR3ZY G92IE 18°21€
6£'08T+2 1d W TI T gePBic
55
/8'21E _;_q_, v/'21E 000/ 121
I
AT'CTC .
BhEE secle 060912
6E'EIE y2'€1e 000212
L9EIE £G'€1E 000p12
<
1N <
o
e
. _ .
96'€IE Il 28'€1E 000e 12
y2¥1E Ty1e 000212
(@)
. . o
£Sv1E 6E'v1E bootiz| S
(@)
<~
£971E 9£'901g| +
QU]
g S/ YIE T9vIE 000012 O
£
Re 3 3 3
og @ = .
o mﬁm - 2 s \ 96'71E £8'v1E 900602
SR
H |
% L
SR T
og® 5 _ _
0 5 / 9I'GIE ¥0'SIE 0’080
S
==Y
UKR
9£'S1E g2'sIe 00'0/02
S
o <
i
. o .
95'CIE y¥'SIE 00'0902
Q/'CTC ‘

C70G0+2 T razses rosie 600502
96'SIE 28'cIe 000502
91'91¢ 00'91E 00'0£02

g . ce220d
8231 SRR EIL)> At
2~
wnw
___ )
. - O
9'9TE I vUpLzZY i Shore : o
e S LIE 550168 S
LS TI0+<2 > W
o
o
+
QU
/
000+ 6891¢ VA 000002 D
/ . .
/ 90'L1E L0'L1E 000661
/
/
/
/ o< @
/ 9T/1E Y2 LIE|2 0T | hncet
/ | 6“7.
EVBL6+T P R
/ oy
\ < Y s 3
(@]
/ 2 @ 02'/1€ 0E'L1E
/ o H0'0L6H
/ 0 ™ 02/1¢ 296961
/ +
— XY O
/ =5 o
/ 3990 S
y Lo VAALS S /218
A/ S K % =) 7T70E % 9096
\ G 2
\ N
/ Vg
= C . .
\ oS L0'L1E 8I'L1E 00026E
\ Y N
\ [a%
\
\
\ . .
\ 16'91€ ¥6'91E 0006t
\
\
89'91€ 89'91€ 000861
8€'91E 82'91¢ 000261
(@)
| 1d VUR3ZY 1091 LBSTE 00016 w
00'S1E 596061 =
21906+1 Had 98'CIE 219061 mj
~—
19GIE Sy'SIE 00°0061 O
e
o
N
12'G1E [~ 80'SIE 000681
18'1€ 69'v1E 000881
T.v1E 1C//81
= . .
- 8E¥1E . s2vie 000/ 8%
=g o3 :
L 5|2 g < I QU
¥ M 3 o A/ / Il
S 0 '
s Y6'€IE 28'€1E 00098T
€/ EIE 21'GG8]
yS'EIE I7'E1E 000581
8TEIE e SO'EIE 000 8T
Lo 1!
33
o
- _1
28'21E 69'21€ 000e81H
9%'21E £e'21e P
[Y'21E £0'oest
o
. . o
y1'21€ 10'21€ oooter] S
o
0
+
<~
28TIE 69TIE 000081 O
0S'71€ 9£'71E 0006/ 1
8111E CO'TIE 0008/ 1
« QU
o ©
S
. 3 .
9801¢ ) £/'01€ 000/ /1
$S'01E 0%'01€ 0009/ 1
2201¢ 90'01€ 0005/ 1
06'60E 0/'60E 000b /1
85'60E LE'60E 0008/ 1
0F'60E 1IN VUPSZY
Ligva/+1 0 wy 0%'60€ T2vell
92'60E £0'60E 0002/ 1
3
M~ NP
=2 86'80E 28'80€ %
S ™ H0'0ILH o
N~
2 °
- =9 o +
s 0O S —
X583 2
byt O
@) o £ /'0NC o /NN T
< ARC I crgoe| ¢ |[ZS80¢E 000071 -
[T [074
i 2e
]
.W m . .
] 05'80€ 9£'80€ 000651
XY N
(074
1£'80€ /1'80€
. 100’089 H
Y £L2'80E i1d 0UPIZY
2L LL9+T g Ad W £2'80€ 2L LLO]
s o
c <
1 ol Y
= 2 o d e X/ ¥1'80€ 00'80€ 000/ 9%
N
H
o
86'/0E ¥8'L0E 000991
, * N ,
18'£0€ 5.:5J. 69'L0E 000291
L6'C0E oUpSZY _M.m_
‘um,wvmi W _—_
___
_.__ G9'/0E 2S'L0E 00055
\
|
|
|
\
= . .
) 8%'/0€ GE'L0E 00'0£9L
=
|
|
\
|
\
| " ' T
__ TELOE 91'L0E [TEEN
\
|
|
\
i | O
BIS0E oupPr | 60'/0€ £6'90€8 o
| Geomr w 00019 o
\
/ (@D
\ O
\ +
/ —
\
\
\ 88'90€ G/'90€ 000051 D
\ L o8
\ h <
\ non
\ — 1
/
\ f f
\ 99'90€ 25'90€ 00065
/
\
\
\
\
/
\ f f
\ ¥¥'90E 82'90€ 00085
/
\
/
f \
[2'90E AN VURSZY A
' ' W: l ' .
F€6T/6+T i W | ocrn et £2'90¢ 20908 Hligyast
S'89G+T Wy |
00'90€ ¥8'S0E 00095
o
IS f f
v G/'S0E 09'C0E 0005CE
V&
n
Yoo
=S o
5284 8¥'G0E S |se's0e 00 0bCE
LUco S
ONOS v¥'G0E 3 /7'8EC]
<X 2y
U o .
N = ¥
¢ S
Lo 61'G0E £0'S0E % lovoecH
o) M~
s o L
Y N I
(074 _
88'%0E S/'v0E 00025T
o
\ . . o
\ SS'v0E 0%'0E . >
ST'E0E ouUpPdZY |\ 000ISH —
Temoe W\ o
: wmfvom HI\_ﬂ_ O_(__OWNW_ m =) H\n,QO oupszy / 5
€0'G0G+T Ad W 28 02'G0G+T 8E¥0E €0'S0GT H.
o m .
015 5 5 ©
st ¢ 02v0EM W 10'%0€ 00'00ST
309 % L4
,SW N _Ll_UO N
e’ = sSM .
= z1 20 SL20€ roupdzy €070€ L3
TR Seey+l WY 2
.|.H<_L|_4 3 62'20€ 1oUpPSZY /A/I 18'€0E 29'€0E 500641
WI,H m 1S'687+T WY mﬁ
_”__H_ - W —_— A\
A= N 998 +1 W
KR =
W
i)
— (- LM = Q
™M N - i®) O &
™M ™ <+ > | C = O
N O | o O N
= = C |3
il BNCRN R RS 0"
O | = | x v | = o
e S|P X |2
S o ~ D) 8)
= C v | — o | W
<D s | o
s lo ||y "
<© N O N +
N 5 vl = | @ n
O > O
04 C C
U o
O
al




